1. Ordre des opérations

Exercice 1 Calculer:

Série A

1) 3-49-2+8-(52-15)" =

2)  (03)° - 400 + J1600: (01)* =

3) J22+22+4.3+2.(7+436) =

4 3.5 +8.44-6-(3

—8)0 -

Exercice 2 Calculer:

1) 52.4144 +2° . (6°-6-V9+1) =

2.7-327.-2+5

N3 +7+54:9 B

2)

3) (+3)P:(-3)-(-2+5).(-1)° =

4y [(-5)+(-3)-(-1)] 2* =

Exercice 3 Calculer:

1) (6-10)" -3/ -64-(-2)-

3 .22 . 1" -9+ 3°

2) \/ﬁ+1 B

v6z —11-( -5)

Solutions :

Ex1: 1)818; 2)4001,8; 3) 350 ; 4) 385
Ex2: 1)332;2)1,3;3)57;4)196
Ex3: 1)-264;2) 10
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